


Recaps
- HW due next Wed

.

- Next HW : over graphs
↳ due last Fri of classes

- I more lab CD
- Zy books reading for

next wed
.

- Midler m2grapdes are

in blackboard

( please double cheek )
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Pfe :
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AIgorithmsongraphs-Basic.IS#ueshon
:

Given any
2 vertices

,
are

they connected ?

Also : what is their distance ?
↳ minimumpath

How to solve ?



Pseudocode : two versions
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General traversal strategy s

I : Can we use a different
"

bag
"

?

queue
!

(also OG )
for everything)



Bff : use a queue

*queue
XQ

XQ←tree
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( not in BFS tree )
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BFS vs
.

DFS '

-
- Both can tell if I vertices

are Connected

- Both can be used to detect

cycles in the graph .

How ? If any edges of G

are not in free
,

must
have a cycle .

- Difference
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Runtime :
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Nutting
In some sense

,
BFS trees

are
' ' Short "

.

But - what if graph is

weighted ?
100

a
E :  

g-YF-TT.TT
BFS tree

.

ignores weights
entirely

Need to examine how to

get minimum things when
graph is weighed .


